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12 Hp 12.92*0.802 <10.36 |1.67 17.27

7 5.26*1.5/2=3.95|1.8 7.11 0.8 5.69(NE)

13 2 2 Vg 2593 > Mg 56.07
14 C-C 5 1*0.5=0.5 2.35 1.17 0.25 0.29
15 6 0.2*0.5=0.1 1.8 0.18 0.25 0.04
16 7 0.5*%13.64 6.82 0.25 -1.71(NE)
17 X X Ve -7.23 XMc |-1.85




cos’ (g —a)
sin(¢ + o) sin(¢ — f) -,
cos(0 +a)cos(f— ) ]
cos’(30-16.7)

sin(30 +20)sin(30-15) _,
cos(20+16.7)cos(15-16.7) ]

C =

a

cos’ acos(d + a)[l +\/

cos’16.7-cos(20+16.7)[1 + \/

cos*13.3

sin50-sin15 s
c0s36.7-cos(—1.7)

cos’16.7-c0s36.7[1 + \/

0.9471

= =0.574
0.9174-0.8018-2.242

1
PA =EcaysH/§

:%><0.574><1.8><62 =18.60t/m

V, =18.60x0.598 =11.12t/ m
H, =18.60x0.802 =14.92t/ m

1
PB :EcaysHé
:%x0,574x1.8x52 ~12.92t/m

Vp =12.92x0.598 =7.72t /' m
H; =12.92x0.802 =10.36t/ m

()&t

@ A-A %
a. i #% 2 Pl
e _ DYV, tang+p’

s ZHA

-- P’ =l}/shzﬂ
2 1-sing

_ L1 gx102 X 1FSIN3S

2 1-sin35
L 10x1.44x 1703736 < o5t m

2 1-0.5736
-F. - 37.97-ta03545.05 0 oo

14.92

# P72t



plF, = S19718N35 _y ae 15 50K
14.92

b. M iE% > FlHcE AHEA

M
Z, = LM, _ 8496 _ 504
YV, 3797
e, =2.24—ﬁ:o.44<%=0.60—>0}<

Vv .
515, - > A1 08y 4909, 6:00,
AA AATT 36 3.6
.5 =18.24<25
0, =2.86<25
® B-B %74

M
o _ 5607 _,

e =S, T 2503

6. =2.16-03- 28 —046<28 =070 - OK
8 2 4

Vv .
515, D o (1208 ) 3387 1, 6007,
BB BB’ 2.8 2.8
5.5, =1843>0
5, =0.09>0
® C-C %1
f:My:M%:6M
bd’® 2
I b pg
f=6|v|;
bd
:6'1'825=1.11t/m2
1-1.0

=1.11kg / cm?® < 0.03f, =0.03-140 = 4.2 — OK



L33 o
(1) B3k ¥

Q) x4 e

__Er‘_ljig-é‘ﬂ .

(3)3t B + R4 2 4o
Dtezt & 4 2T s

Jfﬁ ‘d’ ;:_l,'— % 'lir' = A
LR SENEIR AN P

3.3 30

2 —‘:;J-_;i_'-'g-_J
[¢ ] w4
A2

M

P

A
I
A

5.

5

P

Eﬂ@\m&«
a\.h_u-l;\mk

A e ek \mk mk \mk (;

\

el
=N &}g

R
sy

3
‘_

;V;}-%:l ;}% ,
D 1.8¢m’ o BEEx 4 30°

1.9vm’ » g s 357 ~; A4 125 Um?
D235tm’ o A AHI EERES AL 35

’e»‘%i N }ég%g{ P 4 o

: 1.8t/m’

: 1.9t/m’

12324t¢m’ - dgr* 2.35t/m’
oo 4 }%ﬁ‘ég{ 3 4 o

. M-

24 7.
|/£ ];l.‘ o

o
(w
A¥
ﬁ}

;J
ETl
W

=
'
£
553
=l

P
<

kbos. IR E

—
o

BRI S EG F IS e A

i d fc' =140kg /cm?

o



& 85 u3F 4 f, =1400kg /cm’

He tana=;—6:0.2

o=11.3°
A1 =040

B=15°
CESEY-EN-E¥ §:0. 2241

2 o

8=§¢=20
Ao A=11.34+20=31.3°
sinA =0.5195
cosA =0.8545

h'=sin15°=0.26
Q) #H2Hmp L~ REAEG A AoT L

EX L 2 3 4 5 6 7

%o e Bl e |4 4 RE 4 45
1 A-A 1 1/2%6.8%1.36=4.62 |2.35 10.86 1.15 12.46
2 2 2 0.3%6.8=2.04 2.35 4.79 1.75 8.39
3 B-B 3 1/2*6.8%1.08=3.67 |2.35 8.63 2.26 19.50
4 X 10.33 24.29 40.35
5 A-A 4+5 1.2*%4.4=5.28 2.35 12.41 2.20 27.3
6 6 1.42*0.3=0.43 1.8 0.77 3.69 2.84
7 7 8.26*%1.6/2=6.61 1.8 11.89 0.53 6.3(NE)
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